CLASS: 12th (Sr. Secondary) CODE: B

Roll No:
PHYSICAL EDUCATION
[Hindi and English Medium]
ACADEMIC
[Time allowed: 3 hours] [Maximum Marks: 60]
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GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.
*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.
*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.



SECTION-A
(OBJECTIVE TYPE QUESTIONS)

UY -1 Aip-3AT3e gte A afg 11 yrT o 381 § ot Sut oref & fpait arg &) smaehy »
(P)3 (W4 (M5 ) 2

In a knockout tournament, if 11 teams are participating then number of byes
in upper half will be:
@3 (4 ()5 (@2

uy -2. AgaFarad g faerfaq o1 e am g
@) faerfiq &t 2 @) faeria-s

@) faerfe=- <t (@) faerfim-St
Riboflavin is the scientific name of which vitamin?
a) Vitamin B> c) Vitamin C
b) Vitamin E d) Vitamin D
UY -3. @RI & 0 & SR 6t a5y &1 @R 39w............ HaGHUTA! BT 37
() dc (T HR
(@) Tfd (d) 3ATHR
In Law of Acceleration; acceleration of an object is inversely proportionate to its: -
(a) Force (c) Mass
(b) Speed (d) Size
Y -4. faiy- siaffre srded yrRa A foa af smar 2
() 1984 (T) 1988
() 1985 (d) 1990
The special Olympics programme came to India in:
(a) 1984 (c) 1988
(b) 1985 (d) 1990

Y -5. TP 1 T W FeAT (o1 BT fha sarard &1 ISexur g 2
) C (N
@) MG (9) 390 A B Tt

Jumping on the spot is an example of _
(a) Isometric (c) Isokinetic (b) Isotonic  (d) None of the above

Y -6. AYHE A fHy o A et B 2
@8 (b) T (o) URhTN_ (d) femm
Diabetes is related to which organ: -
(a) Heart (b) Kidney (c) Pancreas (d) Brain




uy-7. e 0 ST ERT (v ) DI S B STl @ |

Sit & reach test is done to check (................. )

WH-8. e BT gaRT P (..o ) Wi pgarars |

Newton’s second law is also known as  (................... )

UY-9 HFd IR 3R I WR ST B 91t 9l BT T (............ ) ATl
g | The study of human body and various forces acting on it is called (........ )

UY-10 . {5 321 A H9H Ugd WIca® UiRneror fafyr &1 sra=ma 2

Which country first adopted Fartlek Training method ?

UY-11 . SWIAI® W F9 JE §U 2

When did the Deaflympics games started?

uY-12 Tfd & faer™ &= o1 faftal &1 9 fafee |2

Name some methods to develop speed.

(SfUB YA/ BRUT (ASSERTION/ REASONING)

@ D HY U &1 TH BT AfHBYT (A ) 3R T B BRI (R ) & =0 H
E'QIfCITTFqT% | ﬂﬁf$?ﬂ?;[ﬁtf | There are two statements which are stated below

and labelled as Assertion (A) and Reasoning (R). Choose the correct
statement.

Y -13 UfHBYF (A) - Vg FifFe! faafeal & uerH # GUR & H grad axdl § |
PRI (R) -oid Tl Sfge df R aal 3R I9d YHIA! BT 30T B! 8l

el faeea g9 | 3R -

3 UHUT (A) T8 & A HRUN(R) TAd ¢ |

) 3IMBYT (A) TAd & AfPd BRUI(R) eI B |

) (A) 3R (R) GHI TR g 3R (R) ; (A) P Ug! AR IR ¢ |
@) (A) 3R (R) T T&l & Afdh (R) ; (A) P! TG ARSAT g1 Bl |




Q13. (A) ASSERTION: Biomechanics helps in improving the performance of
the players.

(R) REASON: Biomechanics studies the forces and their effects on biological
system.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Y -14 AfHBYT (A) — U HIHT 3] B diel & MHA G |
PRI (R) A fermie ot e gl

3R —

3N AUHYT (A) T&l § dfbd PHRUI(R) Tad © |

) 3fVHYT (A) Tad 8§ AfbT HRUI(R) TBI§ |

) (A) 3R (R) T T&T & 3R (R) ; (A) T T ARSI BT |
¥) (A) 3R (R) TFI T&1 8 AfPBA (R) ; (A) P UG ARAT Tl Hdl |

Q14. (A) ASSERTION: Sprain is included in soft tissue injuries.
(R) REASON: Sprain is injury of ligaments.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Y - 15 AFHBYT (A) — URI&U-IH I UHR & Bid &
PRI (R) Ahl-Th di9 TR Tehl § Ta8 W1 I 8
I —

31 YHYT (A) T& & dfed HRU(R) Tad ¢ |

q) 3MBYT (A) TAd & AfPT BRU(R) eI |

) (A) 3R (R) GFI W8I & 3R (R) ; (A) P! UG ARHAT IR ¢ |
@) (A) 3R (R) T &1 8 A (R) ; (A) P! Ta! ARSAT ol Bl |




Q15. (A) ASSERTION: There are three types of sports trainings cycles.
(R) REASON: Macro cycle is the longest among the thee training cycles.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS)

uYy-16 Ui ffeear wR v Aie fafau |

Write a short note on First-Aid .
HYdT (OR)

TATHI Aqad T & IR auT fafer e | write down the  objectives

and administration of the flamingo test.

UY-17 "WIeAD" eg BT T 3HA g 2 "Widasm” ulreror fafd o1 fawm
faa far 2 what does the term “Fartlek’ mean and who developed this
training method?

(3YdT) (OR)

fafira @ ufreror Tl &1 919 fafeu | Name different sports training cycles
UY-18 Mafiue Wdl § 3| d& feg-frg yrdig afgar Raarst 3 ugs Siar

% ? How many Indian women sportsperson won medals in Olympics? Write
their names.

uY-19 @& -fAreiRor v v wféra Aie fafau |

Write a short note on Goal setting.

U%-20. WRIFIfReT Wdl WR T e fafau |

Write a note on Paralympic. games.

Y-21 aH-faay &1 ufshar &1 avfq 31 | 59 His i @y faf@e |

Explain the process of Anulom-Vilom. Write any three benefits of it.




(SECTION-C)
(SHORT ANSWER TYPE QUESTIONS)

uY-22. e 1 g3 G fapfadl of JHiag 3 | 3¢ PRUT R 9919 &
Iurg Wi ﬁl‘f@ﬂ | Enlist the spinal postural deformities? Explain their causes
and precautions to avoid them.

OR (3f4aT)
YIUTPHR [ , AT TUT e e & GURTHS UM AU H fora |

Write in brief the corrective measures of Bow Leg, Knock Knee and Flat Foot.

WY-23 Tierd MR A 3TT T JHSIA € ? Wl § SHBT FTHEE © ?
what do you mean by balanced diet? Write its importance in sports.
OR (31Ydl)

3ATER & N9 3R AT GV dwd HIH- S A & 2 TSI B | What are

nutritive and non-nutritive components of diet?

UY-24. fORY ragedr ard (CWSN) g & fore iy wfafafery &1
T 9911 91 fhgl fiF gidaal &t sare Sifv1e |Explain any three

strategies to make physical activities accessible for CWSN.

Y -25. ! 3R afgH! safdica & g 3fdr 9418¢ | Differentiate

between Introvert and Extrovert personality?

Y -26 . AIH MR fAudta Thdl & 1Y Toma— ot ufshar &1 aufq &9 |

Describe the process of vajrasana in detail with its benefits and
contraindications.

uy-27. faftrr afffaay eiv 9@t Prmeial & IR # ff@e | write about

various committees and their responsibilities

(SECTION-D)
(LONG ANSWER TYPE QUESTIONS)

Uy -28 Gfhe ylRrerorsar g » Tdl A 39P Heg<d B JHSST |

What is meant by Circuit Training? Explain its importance in sports.
OR (3YdT)



%%Wﬁf%ﬁﬂﬁﬁmﬂﬂ%ﬁ qui BITOTT | Explain Newton’s

laws of motion with examples.

UY -29 AIP -3¢ MMYR R 21 Al & fore fhReR dgR oiferd | Draw a

knock-out fixture for 21 teams.
OR (31YdT)

IS (SAl) fPeAT IR F AMYR W 9 A 18 94 & 9= & forg o9 -+ A
%Earr!ﬁﬁﬁ%q ﬂﬁ%?wwaﬁﬁﬁ[ml Make a table of test

items listed under fitness test by SAI (age group 9-18 years) Explain the
administration of any one of them.

UY-30 YT WA diel BT AR A guiH B | Explain Common Sports

injuries in detail.

OR (37Yal)
AT §RT AU &3 UR IS a1d UGl BT Ieed HIfoTT |

What are the effects of exercises on muscular system?
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